-

i viei @enedl : A |a|=|b| dlu A a=1b .
U EETEN
lzal Hidsl vl Yool A la|=|b|=>a=+b
ari viizi @enedl : S [Big Pl 2 ulza 2 Gamlig dd wilds Big 8.
Ut [dtun

S
wdl P = OP

= Al P+ GuulBigell 2enqidz sald.

arii vdei @enod : A [a+ b|=|a-Db| du d uRdl a du b wwR do ulBedl A
At [drun
Wl |a+b|=|a— b

la +b|* =|a - b|*

(@a+b)-(a+b)=ta—-b)-(a-b)
a-a+a-b+b-a+b-b=a-a-a-b-b-a+b-b
a-b+a-b=-a-b-a-b

2a-b=-2a-b

4a-b=0

na-b=0 (-4£08)
% o alksl uzwz dot dlarll @3 wrd 8.
ari vzl @ened : |a+ b|2=|a|?+|b|% +2ax b3 AR AW a du b WS uA 8.

2y [duin

sla+b|?=|al®>+|b|> +2a-b
2AH 20 [ vaA 9.
ari vilzi @enod : A a 4 b auey agesiardl wawdd cugzil §iu dl a- b= 0.
wucd [dan
uHeyr agrsie-dl o -l suoaill uRuR dol dlu Adl,
na-b=0 wa dl.



